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Plot Sensor and FgRec Data
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P3-5

BfiE) | GEBEETIC (F)) | EM=E (BH/K) | KR R

07:05 278 150.0 = {RRiB007:05 Bz (RFAEEE)
07:45 278 150.0 = RRiB007:45 Bz (REAEEE)
08:25 278 150.0 5| {Ri%e08:25 Bz (FAMERSE)
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10:10 278 150. 0 E BRi&e10:10 Bzl (GRAEREE)
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12:10 278 150.0 =l RiBe12:10 B3 (REAKEE)
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2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0
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P3-5

BfiE) | GEBATK (R)) | EBE (EF/HK) = ERE

07:35 273 150. 0 E 1BRi&e07:35 Bz (RAEREE)
08:15 273 150.0 5| {Ri%e08:15 Bz (FAERSE)
09:20 273 150.0 = RRi1B009:20 B (RFAKEE)
10:10 273 150.0 S {Ri%@10:10 B3 (RAERSE)
10:55 273 150.0 El 1BRi&010:55 Bz CGRAEREE)
11:35 273 150.0 =l {Rige11:35 B3 (RAERSE)
12:15 273 150.0 Sl {Rige12:15 Bz (REAERSE)
13:00 273 150. 0 E| {Rig@13:00 B3h (RE{ERSE)
13:50 273 150.0 F BRige13:50 Bz (GRAERE)
14:35 273 150.0 = Ri%e14:35 B (REAHRRESE)
15:30 273 150.0 E BRi%e15:30 Bz (GRAERESE)
16:40 273 150.0 E BRige16:40 Bz (GRAERSE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

FHERECE (2223.0 vs 3250.0) RS
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